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D i f f e r e n t i a t i o n P r o b l e m s

l A bombardier is sighting on a target on the ground directly ahead. I f the bomber is
flying 2 miles above the ground at 240 mph, how fast must the sighting instrumentb e
turning when the angle between the path o f the bomber and the line o f sight is 30°?
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2 . W a t e r i s r u n n i n g o u t o f a c o n i c a l f u n n e l a t t h e r a t e o f 1 c u b i c i n c h p e r s e c o n d . I f t h e

radius o f the base o f the funnel is 4 inches and the altitude is 8 inches, f ind the rate at

which the water level is dropping when it is 2 inches from the top.
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3. Find the equations o f the vertical lines which meet the curves y = x? + 2 x ? ~ 4 x + 5

and 3y = 2x? + 9x? ? 3x -3 in points at which the tangents to the respective curves are

parallel.
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